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Assignment – BDI/FIPA
CPSC 601.68/599.68 W08

Part 1: naïve protocol

We assume the customer has the correct mental attitude to request the quote, and the customer intends to get the quote, and that the customer believes the merchant can supply the quote, and that the merchant believes that product x costs $100, and that the merchant believes that image of x is x', and that the server believes that the key for x is key12.

1. FP(<m inform(c,quote(x,?))>) [c\m]
//given
2. Ic quote(x,?)
3. Bc Agent (m, <m inform(c,quote(x,?))>) 
//given
4. Bc Agent (m, <m inform(c,image(x,?))>)
//given
5. Bm quote(x,$100) 

//given
6. Bm image(x, x') 

//given
Bs key(x,key12) 

//given

7. <c request(m, <m inform(c,quote(x,?))>)> 
//The costumer requests the quote because he intends to achieve the RE of the request; (“intending to achieve the RE property”, RE of 3, 2)
Proof obligation (Feasibility Preconditions) for 8:

FP: FP(<m inform(c,quote(x,?))>) [c\m] ∧
       Bc Agent (m, <m inform(c,quote(x,?))>) ∧
8.        ￢Bc Im Done (<m inform(c,quote(x,?))>)

// 8, def request
a. FP(<m inform(c,quote(x,?))>) [c\m]

// 1
b. Bc Agent (m, <m inform(c,quote(x,?))>)
// 3 
c. ￢Bc Im Done (<m inform(c,quote(x,?))>)
// expression not found (closed world hypothesis)
<a> /\ <b> /\ <c>

d. QED
9. RE: Done (<m inform(c,quote(x,?))>)
//8, 9, def of request
10. Im Done (<m inform(c, quote(x,?))>)
//merchant decides to adopt the intention to quote x from 10
11. Bc Im Done (<m inform(c, quote(x,?))>)
// customer chooses to believe from 10
12. <m inform(c, quote(x, $100))>
//m performs his intention from 10; unify with 5
Proof obligation for 13:

FP: Bm quote(x, $100) /\

13.       ￢ Bm(Bifc quote(x, $100) ∨ Uifc quote(x, $100)) // 13, def of inform
a. FP: Bm quote(x, $100)




//12
b. ￢ Bm(Bifc quote(x, $100) ∨ Uifc quote(x, $100))
// neither disjunct can be derived from above (closed world hypothesis)
<a> /\ <b>

c. QED
14. RE: Bc quote(x, $100)
// 13, 14, def of inform
15. Bc quote(x, $100)
// customer chooses to believe the quote from 15
16. <c request(m, <m inform(c, image(x,?))>)>
// based on 16, customer decides to request x
…

17. <m inform(c, image(x, x’))>
...

18. <c inform(m, EPO(c, x, $100)>
…

19. <m inform(s, EPO(c, x, $100)>
…

20. <s inform(m, key(x, key12))>
…

21. <m inform(c, key(x, key12))>
…


